T # 4

A

.

HRFE—MFHE AL

I

+M5F4H 13 HBAMNL

SHSEE 5’%*%%%%&!:#5%%@81%

1
2 TEEFT #HEH &8 £ &5 R 4
3 T i G544 820H Hd SHSESA31AET
4 TERME ST
B B4E£FHEAS0F t=5m A=969m
LFREERET M40 t=—10cm A==679m
%{E_EI%IJBE ETE +%5E B4 ?:, ﬁ BEFfHE +FF "+ M ."?:, r}:‘E EF&E +7F i
i C S$6lipiolm w| 019950600 % 79961000
(HERBEL ) . (FHIAB AR
A KL FHF K 4 = 1EIARL 5 2 B AFL % 3 [ AL
TEFE|FEFF | EAA T RTE| +FF BN+ ETE] L5 | B4ME
BRI S AL 5
jo1G00/000
WL (016 00000
(ﬁ‘)ﬁyilﬁﬁgtﬁ [U.qug 00D
LT 70000035 9 g9 Ay
q TUU 000» ﬁ%@g Lq;lo%/n)
[ Frpees: (EiLemx1,10). . (0470000 B onwmsm 970000 )

@ LIRS

@&

@ T RmIFA e

HASEX0. 1)

106,000

(FEB4EE X0, 45) * HFH{irigE

4600000

ferennnannde




